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Part I Structure and Vocabulary

Section A
Directions;

Beneath each of the following sentences, there are four choices marked [A].[B],[C] and
[D]. Choose the one that best completes the sentence. Mark your answer on the ANSWER
SHEET I by blackening the corresponding letter in the brackets with a pencil. (5 points)

1. The managér promised to keep me of how our business was going on.
[A] to be informed [B] informed
[C] on informing [D] informing
2. 8o involved with their computers that their leaders at summer computer camps aften
have to force them to break for sports amd games.
[A] did the childred become [B] do the children
[C] the children do become [D] become do the children
3. Some metals are malleable, others are so brittle that they break easily when bent
quickly.
[A] but [B] like
[C] there [D] whuch
4. No one is completely sure causes booms amd depressions in free economies.
[A] how [B] whom
[C] what [D] why
5. Although more than one hundred elements are known, they constitute more than 98
percent of the Earth's solid crust.
[A] that eight are so abundant [B] so that eight are abundant
[C] eight are so abundant that [D] eight that are so abundant
6. Of all the economically important plants,palms have been ',
[A] the least studied [B] study the least
[C] study less and less [D] to study the less
7.In 1876 sculptor Anne Whitney bought a house in Boston, for nearly two decades.
[A] where did she live and work [B] was there living and working
[C] where she lived and worked [D] there was living and working
8. Lilian Welsh decided ,during her early years of professional activity

[A] that her real talents lay in the field of preventive medicine
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[B] in the field of preventive medicine lay her real talents
[C] lay her real talents in the field of preventive medicine

[D] preventive medicine the field was where her real talents Jay

9. »a tornado comes into contact with a much smaller area.but 1t 1s much more violent
and destructive.
[A] Comparing a cyclone [B] A cyclone with comparnison to
[C] Compared to a cyclone [D] A cyclone to be compared with
10. William Faulkner and knew from an early age that he wanted to become an author.
[AJ liked 10 read as a boy [B] and as a boy liked reading
[CJ was a boy and who liked to read [D] he was a boy who liked reading
Section B
Directions

Each of the following sentences has four underlined parts marked {A],[B].[C] and [D]. I-

dentify the part of the sentence that 1s incorrect and mark your answer on the ANSWER SHEET

by black blackeming the corresponding letter in the brackets. (5 points)

11. An important said to conservation efforts, photography makes 1t possible to observe and study

[A] (8]
the chimpanzee in the wild without to disturb the animal.
cl D]
12, In 1884, The Siamese royal family gave two of the animals to British resident 1n Bangkok,
[A] [B]
Owen Gould, tock them home with him and exhibited them the following year in London.
[l (o]
13. During the Middle Ages,for ensure good luck, cats were often sealed alive in the walls of
[A] [B] [cl
houses, convents, and public buildings, only to die of suffocation.
(D]

14. Since the circus arrived 1n_town, all my friends have been looking forward to take their chil

(Al (B] cl o]

dren to the show.

15. In proportion to its size, the hungriest animal 1s the shrew,which must consume several times

[A] [B]
their own weigh every day.
[c1 D}

16. More than the milhian copies of George Orewll’s novel Nineteen Eighty-Four have sold in

[al [B] [cJ
England alone since 1t was first published n 1949,
{p]
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17. Despne the broad acclaim of him novels, James Raldwin is most highly respecdted as an ess-
[A] [B] [c] D]
aylst and social critie.
18.Many the ories on conserving the purity has be en proposed . but no one has been

[A] [B] rc]
as widely accepted as this one.
[D]
19. The better we attempted to explain our mistake, the worse our story sounded.
[A] [B] [c] ]
20. The reason for my long absence from class was because I was il for 2 weeks.
[A] B] fcl o]

Section C
Directions ;

Beneath each of the following sentences, there are four choices 1narked [A],[B1,[C] amd
[D]. Choose the one that best completes the sentence. Mark your answer on ANSWER SHEET 1
by blackening the corresponding letter in the brackets with a pencil. (10 points)

21. Without the friction between theiwr feet and the ground ,people would be able to
walk.
[AJin no time [B] by all means
[C] 1n no way D] on an account

22. The police managed to down the owner of the car.

[A] trace [B] track
[C] catch [D] pursue
23. The company’s training plan was designed to help the employees to improve their work habits
and _ .
[A] proficiency [BT sufficiency
[C] msufficiency (D] efficiency.
24. 1t seemed as 1if all of a the animal had smelt danger in the air.
[A] sudden [B] moment
[C] minute [D] once
25. The clever lawyer proved that his was not guilty.
[A] elient [B] clerk
[C] buyer [D] customer
26. The country’s need for food was 3if they did not get some soon, thousands would
slarve.
[A] desirable {B] urgent
[C] emergent D] eritical

27. When he was questioned about the missing ring,he firmly _ ___that he had ever seen it.
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[A] rejected [B] refused
[C] denied [D] 1ignored
28. Anne and Smith each other recently because they had got in each other’s way for
long.
[A] fell back to [B] fell in with
C] fell out with [D] fell through
29. They have always been on good with their next neighbours.
TA] friendship [B] relations
[C] connection [D] terms
30. Some students mistakenly think that ___  the sources amd putting gquotation marks
around all the copied bits will be enough to make their papers acceptable.
[A] admitting [B] assenting
[C] attributing [D] acknowledging
31. Tall-growing crops should be planted where they will not shade or __ with the growth
of smaller crops.
[A] interrupt [B] interfere
[C] disturb [Dv] distract
32. Leadership requires,among other important qualities,the ability to ___ a decision.
L[A] reach [B] overlook
[C] revise [D] design
33. Many photographers prefer to take pictures swhen they can take advaniage of the
special effects of the setting sun.
[A] at noon [B] at twilight
[C] in the morming D7 in the fall
34. A steadily increasing of students is enrolled 1n government-run institutions.
[A] formation [B] fraction
[C] spread over [D] segment
35, They just spushed by the demands for residential business ,or industrial space.
[A] spread on [B] spread out
[C] spread oved [D] spread o
36. The shop had no more red shoes »s0 Jane chose brown ones mstead.
[A] on hand [B] ready
[C] in hand [D] in stock
37. The simplest way of listening to a music is to listen for the pleasure of the musical
sound 1t-self,
[A] sheer [B] sharp
[C7] severe D] slack

38. Because the of such wnting is improtant,we expect the familiar essayist to work by
indirection,to be subtle instead of obvious.
[A] note [B] rhythm
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[C] tune 1] tone
39. Man's understanding and his mastering of matter and energy his claim to superor

ty ;provide him with the basis for enniching and deepening human expenience,

[A] designate [B] deserve
[CT jusufy (D] illustrate
40.I1felt __ to death hecause | could make nothing of the chairman’s speech.
[AJfatigued [B] tired
[C] exhausted [3] bored

Part I Cloze Test

Directions .
For each numbered blank 1n the following passgge .there are four choices marked [A],[R]
[C] and [D]. Choose the best one and mark your answer on ANSWER SHEET 1 by blackenin,

the corresponding letter in the hrackets with a pencil. (10 potnts)

In a few days 1 had grasped the main principles on which the hotel was run. The thing tha
would astomish anyone 41 for the first time into the service quarters of a hotel would be th
fearful noise and disorder during their rush hours. Itis 42 so different from the steady worl
n & shop or a factory that it looks at first sight 43  mere bad management. But 1t is reall:
quite unavoidable ,and for this reason,hotel work 1s not particularly hard,but 44  1tcomesu
rushes and cannot be economized. You cannot, for instance, grill a steak two hours _ 45 ituw
wanted ;you have to wait till the last moment by which time a mass of other work has accumulat
ed,and then to 1t __ 46  1n frantic haste. The result 1s that at meal-tmes everyone 1s doing twr
men’s work, 47 s impossible without nowse and quarrelling. Indeed the quarrels are a neces.
sary part of the process,for the pace would never be kept up 1f everyone did not 48 everyome
else of 1dling. Tt was for this reason that during the rush hours the whole staff raged and cursec
like demons. A girl in the bakery .aged sixteen ,used oaths that would have defeated a cabman. Bu
we are not losing our __ 48 and wasting ime ;we were Just stimulating 50 for the effor
of packing four hours’ work into two hours.

What keeps a hotel going 1s the fact that the employees take a genume pride in therr work,

beastly and silly though 1t 1s.

41.[A] gomg {B] enter [C] coming [D] leaving
42. [A] anything [B] that [C] something [D] as if
43. [A] Like [B] for [CTwnto D] over

44.[A] 1n this respect [B] out of sight [C] by s nature [D] in contrast witk
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45. [A] otherwise [B] when (C] before [D] after

46. [A] afterwards [B] hopefully [C] all together [D] in question
47. [A] that [B] for it [C] which [D] what

48. [A] prevent [B] fortd [C] accuse [D] blame

49. [A] heads [B] feeling [C] suppert (D7 spirit

50, A some people [B] anyone [C] one another (D7 curselves

Part I Reading Comprehension

Directions :

Each of the passages below 1s followed by some questions. For each question there are four
answers marked [A],[B],[C] and [D]. Read the passages carefully and choase the best answer
to each of the questions. Then mark your answer on ANSWER SHEET 1 by blackening the corre-

sponding letter in the brackets with a peneil. (40 pomnts)
Passage 1

The tradifional perspectives put heavy emphasis on a “free” land and property market, on al-
legedly equal individuals competing [reely on private property,on efficient land use,and on the
benefits that markets in land are supposed to bring to all urbanues, But the realities are not what
these perspectives suggest. There are no {ree competitive markets in cities ,because corporate loca-
tion yurban land purchase,and urban development are disproportionately controlled,often monop-
olized , by powerful capitalistic decision makers. The newer critical perspective {ocuses on these
power and inequality realities of city growth and dechine.

For the most part,the actions of urban industriahsts ,developers,bankers,and their political
allies are visible and quantifiable. Using the language of the accountant and the economst and cal-
culating profit and loss on their private balance sheets,they are prepared to spell out what they
see as they see as the need for and benefutz of constant urban growth. Down to the last square
foot,they can tell us how much new office space 12 needed and how much has been created. They
mform us of the number of jobs produced by their construction projects,and ,once completed ,they
speculate with great precision about the number of additional employees the employers in their ur-
ban monuments will require. They calculate,and often exaggerate,the expected amount of add-
uonal tax revenues of their large projects will generate .and,using the concept of the mulupher ef-
fect ,speculate upon the economic benefits of their acuons for the city as a whole,

On the other hand ,the negative fallout from urban development is noticeably absent from the

industriahists’ and developers” lexicon, Just as cnitical ,and usually just as obvious,the soeial costs
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generated by urban growth are less studied and are sometimes more difficult to speciy and quan
tify. For example ,how can we eliminate unsafe pollution levels and prevent health damage? How
should we measure the psychological impact on urbanites of routinely being deprived of sunlight
as high-rise skyscrapers obstruct the sun? Finally,how can we calculate the fading sense of com-
munity that 18 produced 1n many neighborhoods as constant development and redevelopment con-

verge to constitute the modern city?

51. In the first parag. of the passage,which of the following 15 NOT included in the aspects em-
phasized by the traditional views?
[AJ] Private properrty and property market.
[B] Free competitive markets.
[C] Equal access 19 economic benefits,
[D] Effective land use.
52. From the last paragraph we can infer that .
{A7] mndustrnialists pay much attention to the negative impact of urban development
[B] the opponents of urban development give hittle weight to urban problems
[C] the supporters put emphasis on psychological impact of urban development
[D] the opponents of urban development are concerned about 1ts social costs
53. According to the passage,urban development
[A] always generates large tax revenues for the local government
{B] always beneiits the eity as a whole
[€]1s unavoidably exaggerated by accountsnts and economists
[DJ 1s improperly dominated by mndustrialists and bankers
54. From the passage we can draw the conclusion that
[A] urban development is generally welcomed by city people
TB] the critical perspectives hold more rational views of urban growth
[C] different capitalistic allies have different artitudes towards urban growth

[D] urban growth depends on economic development and political stability

Passages 2

1f pollution continues to increasc at the present rate,formation of aerasols 1n the atmosphere
will cause the onset of an ice age in about fifty years time. This conclusion ,reached by Dr Rasool
and Dr Schneider,of the United States Goddard Space Flight Center ,answers the apparently con-
flicung questions of whether an increase in the carbon dioxide content of the atmosphere will

cause the Earth to warm up or inereasing the aerosol content will cause 1t to cool down. The
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Americans have shown conclusively that the aerosol question 15 dominant.

Twao specters haunting conservationists have been the prospect that meddling with the envi-
ronment might lead to the planet’s becoming unbearably hot or cold ,One of these ghosts has now
been laid . because 1t seems that even an increase in the amount of carbon dioxide 1n the atmo-
sphere to eight times its present value will produce an increase in temperature of only 2 C,which
would take place over several thousand years. But the other problem now looms larger than ever.

Aerosols are collections of small hguid or sohid particles dispersed in air or some other medi-
um. The particles are all so tiny that each 15 composed of only a few hundred atoms. Because of
this they can float 1n the air for a very long time. Perhaps the most commonly expenienced aerosol
1s industrial smog of the kind that plagued london 1n the 19505 and 1s an even greater problem in
Los Angeles today. These collections of aerosols reflect the Sun’s heat and thereby cause the
Earth to cool.

Iir Rassol and Dr Schneider have calculated the exact effect of a dust aerosol layer just above
the Earth’s surface of the temperature of the planet. As the layer builds up.the present delicate
balance between the amount of heat absorbed from the Sun and the amount radiated from the
Earth 15 disturbed. The aerosol layer not only reflects much of the Sun’s hght but alse rransmits
the mfrared radiation from below almost unimpeded. So.while the heat input to the surface drops,
the loss of heat remains high until the planet cools to a new balanced state.

Within {ifty years . f no steps are taken to curb the spread of aerosols in the atmosphere,a
cooling of the Earth by as much as 3. 5°C seems wnevitable. If that lasts for only a few years 1t
would start another 1ce age, and because the growing ice caps at each pole would themselves re-
flect much of the sun’s radiation 1t would probably continue to develop even if the aerosol layer
were destroyed. The only bright spot in this gloomy forecast lies 1n the hope expressed by Dr
Rassal and Dr Schneider that nuclear power may replace fossil fuels 1n time to prevent the aerosal

content of the atmaosphere from becoming eritical,

55. Dr Rassor and Dr Schneider conclude that the increasing spread of aerosols in the atmosphere
will
[A]lead to the earth’s becomung unbearably hot or cold
[B] bring plagues to the inhabitants of the earth
[C] make the earth loom larger in the universe '
[D] upset the balance between the heat absorbed by and the amount radiated from the earth.
. From the last sentence of the second paragraph.we know that

e
=3

[A7 the cooling effect of the bulding aerosols appears to be a great threat

[B] damaging the environment will make our planet unbearably hot

[C7 an merease of 2 C 1n temperature 1s a very serious problem

[D] even a small increase in the amount of carbon dioxide will result in a big change in tem-
perature
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57 From the passage we can infer that Dr Jrasool and Dr Schneider based thewr conclusion mainly
on .
[A7 the bwlding capacity of the aerosol layer
[B] the heat-reflecting effect of acrosols
[C] the amount of heat absorbed {rom the sun by the earth
[D] the heat input to the surface of the earth.
58. The best utle for this passage could be
[A] Polltution: Formation of Aerosols.
[B] Carbon Dioxide and Aerosols.
[C] Warrung: The Earth Is Wrming Up.
[D] Pollution: Warning of a New lce Age.

Passage 3

The importance and {ocus of the interview 1n the work of the print and broadeast journahist 1s
reflected in several books that have been written on the topie. Most of these books,as well as sev-
eral chapters mamnly 1n,but not hmited to.journalism and broadcastuing handbooks and reporting
texts,stress the "how to” aspects of journahistic interviewing rather than the conceptual aspects
of the interview ,its context,and implications. Much of the *how to” material 15 based on personal
experiences and general impressions. As we know,in journalism as in other fields,much can be
learned from the systematic study of professional practice. Such Study brings,togcther evidence
from which broad generalized principles can be developed.

There 1s,as has been suggested,a growing body of research literature in journalism and
broadecasting ,but very hittle significant attention has been devoted to the study of the interview it
self. On the other hand,many general texts as well as numerous research articles on interviewing
in fields ather than journalism have been written. Many of these books and articles present the
theoretical and empirical aspects of the interview as well as the traiming of the interviewers,Un-
happily ,this plentiful general literature about interviewing pays little attention to the journalistic
interview. The fact that the general literature on interviewing does not deal with the journalistic
mterview seems to be surprising for two reasons. First,it seems likely that most people in modern
Western societies are more famihar at least in positive manner,with journalistic interviewing than
with any other form of interviewing. Most of us are probably somewhat familiar with the clinical
interview ,such as that conducted by physicians and psychologists. In these situations the profes-
sional person or interviewer 1s interested in getting mformation necessary for the diagnosis and
treatment of the person seeking help. Another familiar situation 15 the job interview. However,
very few of us have actually been interviewed personally by the mass media,parucularly by televi-
swn. And yet,we have a vivid acquamtance with the journalisiic interview by virtue of our roles as
readers, listeners,and viewers. Even so,true understanding of the journalistic interview ,especially

television interviews ,requires thoughtful analyses and even study ,as this book indicates.

59. Much research has been done on interviews in general .



